#E-Xit

90 MEHREB (BB 1AHZY)

a ogrwrem NERIBEHR
MBS EBERFR (g BT % g ) o A
(N | %=
£ E 15.55 160 .\'\;\_\.\-
18 =) 18.47 150
2% E 1843 | &
3| = 17.78 140 -
4% 4 17.55 ' ‘\‘\A\.\_\‘
5 F % 17.40
6 8% [ 1707 |&| 180
76 B 16.68 7
8 i & 16.44 0.0 ' '
9 K MR 16.17 Trk23 24 25 26 27 28 -
0% & 1595 | & | EBR = 2E -
11 ré % 15.95
12 % = 15.30 —
3E B 15.17 X
14 & =3 15.09 i F E EEE £ =
15 % 4 15.08 FE K23 14.16 16.42
15 7 & 15.08 F K24 14.07 16.16
17 % B 15.05 T Rk25 1377 15.99
188 1499 | # 26 1361 15.85
1957 15 14.84 T 27 13.48 15,69
20 5 K 14.83 T k28 1329 1555
21 B w 14.70
2/ 14.69 5 B 6L BRERFE | PR
2% B 14.52 2 HE 316.6
24 F ) 14.48 1 & 4 688.7
25 & 1B 1402 | B [/hzesesem~11mA D 2 | ER B 601.8
26 & B 13.86 105 AH7=Y) 3 |5 594.5
27 @ L 13.79 G 7 = B 4928 |
27 B8 X 1879 | o 45 ' K 226.8
29 = E 1365 | = 46 |15 E 221.6
30 12 H# 13.60 47 |8 = I 193.7
31K A 13.59 5 B IE £z | B8 2 FES
32 1 1354 | 42 2 E 9.64
33 W 13.50 1 (Mm@ 1] 14.65
34 1L m| 13.48 REIREIRE LR (FERH 2 | & 14.55
35 # i 13.42 0ALIE:REFALLY) | 3 |K i3 13.72
36 £ & 1338 | 1= CEALTAN 36 & &5 724 |
37 18 g 13.29 45 |8 K 472
38 H 13.24 46 |5 F 444
39 4t i# & 13.01 47 |1 i 3.75
40 5F & 12.71
41 0 3k 1 12.39 AR BTSRRI
42 & F 1229 | g | -AERA: FAR28E5A1E
BERSE 12.28 HERAS BE
44 B H 11.78 CEHAE U NERREREREE R
45 B 11.62
46 5 4 1125 | &
47 B it 10.98

-90 -




